Solving Spherical Triangles

1. You must know three parts of a sphérical
triangle to solve for the other three parts. As
is traditional, we use capital letters (A, B, and
C) to represent the angles, and lower case

i letters (a, b, and c) to represent the sides,

E EOGRAPHY where side a is opposite angle A, and so on.
ol 2. If you know the three angles, then you
may solve for the sides by using the law of

-y cosines for angles:
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This is the ambiguous case. In general,
there will be two possible values of B, one
greater than 90° and one less than 90°. You
will need additional information to determine
which possibility is correct for your situation.
3 Once you know the value of B, find side ¢

from this formula, which comes from
combining the law of cosines for sides with
the law of cosines for angles:
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Then use the law of sines to find angle C.
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7. Suppose you know two angles (A and B)
and a side other than the one between those
two angles (for example, suppose you know
side a). Then use the law of sines to find side
b:
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(However, this is another ambiguous case; in
general there are two possible values of b.)
Once a, b, A, and B are known, use the
formula from rule 6.




